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I.  Itis mandatory to fill one option for each question.
2. All questions carry equal marks.

| 3.  Only one answer is to be given for each question. If more than

one answers are marked, it would be treated as WIONg answer.

4. The OMR Answer Sheet is inside this Question Booklet.

When you are directed to open the Question Booklet, take out

the Answer Sheet and fill in the particulars carefully with Blue

Ball Point Pen only.

Please correctly fill your Roll Number in OMR Answer Sheet.

Candidates will themselves be responsible for filling wrong

Roll No.

6. Use of Correction Pen/Whitener in the OMR Answer
Sheet is strictly forbidden.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8.  Each question has five options marked as 1, 2, 3, 4, 5. You
have to darken omly one circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL
POINT PEN.

9.  If you are not attempting a question then you have to darken
the circle *5°. If none of the five circles is darkened, one third
(1/3) part of the marks of question shall be deducted.

10.¥ After solving question paper, candidate must ascertain
that he/she has darkened one of the circles (bubbles) for
each of the guestions. Extra time of 10 minutes beyond
scheduled time, is provided for this.

11. A candidate who has not darkened any of the five circles in
more than 10% questions shall be disqualified.

12. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Versions of the
question, the English Version will be treated as standard.

13. Mobile Phone or any other eclectronic gadget im the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will
be strictly dealt with as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found i his/her possession, F.L.R. would be lodged against

him/her in the Police Station and he/she would be liable to be prosecuted
under Rajasthan Public Examination (Measures for Prevention of

Unfair means in Recruitment) Act, 2022 & any other laws

applicable and Commission’s Rules-Regulations. Commission may

also debar him/her permanently from all future examinations.
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gow

= -« “q

59 ferdt Tic w1 fores fopar ST 8, @ Wi 1 L When a ball is kicked, the

1 = BhF O 9 F T gE e W : acceleration of the ball will be
: proportional to the force applied to

TN T S < FHIGAT B A TG 6 i the ball by the kicker’s foot and

ZEEE % Egr_m"qﬂql?ﬁ 2, 98 s * i inversely proportional to the mass

Topwr o <p1 Uk SeEUI B 7 of the ball, is an example of

(1) iecd 1 Frm Do Newton’s -

N ; o { (1) . Law of Inertia
(2) @ i (2) Law of Momentum

(8)  3ta:fopan =1 form (3) Law of Interaction
(4) 9vTe 1w (4) Law of Effect
(5) a9 (56) Question not attempted

. S i 2. Standing on tiptoe is an example of
aSfl % 9 W BN R 3 % i which type of lever ?

AT @ity

3CE1 2 ? ! (1) 1stclass lever
(1) ¥\ 99 ST ; (2) 2ndclass lever
9) fadia o 3die= (3) 3rdclass lever
53; ?Fﬂw‘f‘ﬁﬁﬁ ! (4) Combination of 15t & 3™ class lever
(4) o o = e ﬁ | (5) Question not attempted
(5) IR WA | 3.  Match List — I with List — IT and
; | select the correct answer by using
-1 1 gEfI-11 | fierm ot aen = fog i the codes given below :
T FH TERAM A T SHBI G : List -1 List — II
i -1 @-II ) (Planning Year) (Planning City)
- — - ); A. IVth Olympics, 1908 i. Amsterdam
.,( { ) _( bk i B. IXth Olympics, 1928 ii. Sydney
IV?’E m: 1908 i TS . C. XXIst Olympics, 1976 1iii. London
IXalT, 3ieifush, 1928 ii. faed | D.XXVIIth Olympics,  iv. Montreal
XXIaf 3feifuss, 1976  dii.eiedce | 2000
. XXVIIaf 3ieifies, 2000 iv. ifezer | Codes:
s 5 T Sl R LT
Koo icBe = o F) i gy ?
et 5 o €Y i e )
e e || @ i siiw
@ @i i i | @rog s Hi v
(4) T | (5) Question not attempted
(5) aﬂﬁﬁﬁ T , 4. When the cue ball hits :;llnother ball
in a billiards game, the system’s
 farferrgd we 8 = e fopell gl Tie @ overall momentum, both before

and after the impact, stays the
same because

TR 7, a1 e 1 9uE Hot g 9
%ﬁaﬁtmﬁmﬁm% Fifeh

) ﬁ%t{\ﬁmﬁaﬁﬁaﬂ@?ﬁ% | ‘ (1) the balls are completely
Pt i i) elastic.
2) T W HE S 5 s T i (2) there is no outside force
HA 2 | ! acting on the system. :
(3) N e g s R o« o (3) a steady force is applied by
AR | : the cue stick.
(4) e 1 FEEEH SUS A £ | j (4) the masses of the balls are
I equal.
(5) FFART 2 (5) Question not attempted
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fadasR o s adi =i ?

(1) %hed H ¥ 5& | HT dofdT PO |
MR il % "R 918l 3R |
BT 8 SH STET BRI A2 | -

(2) Whed wH A W& W HI dordl g |
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BIA1 2 3§94 %ad @ | 2

(3) UsTizewr gfa = i
% TR 3T 519 g B o IR |
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(5) g W
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Til-1 =1 gEil-11 & fieTH ot 3¢ I feg e
e hl TERIAT T Tal TR B G :
I 11
A. TSFT AE i sferam s
ISR T
ii. a9 % 33 5
T | ,
i1, 3foram <1 st
W o
iv. e % 3% WA
W

B. S50 HHIE
EARSERIIL]

C. g Teeifufm
D. jfeas Hifsad
%

@) )\ § s 1

2) iv i i

3) iv i il

(4) I Hi

(5) aaﬁﬁﬂw

Torelt Uit o ATEusl aE aﬁtlaﬁ%m
aiﬂﬁ‘g'q,aaﬁaﬂmma%n%ﬁ%ﬂi
AW Y SIS o 91 €19 I g2 6l
Teheilehl, HIfcTSl <h1 Ueh ThH BlAl 2

(1) 2) wﬁa

(3) ufgHm @)

(5) TG T

A BeaGrad)
i
i

; 5.
!

I
|
i

T

s YA ek

e K e SR,

ARG Mikppmts Sram e s

Which of the following statement is

not correct ?

(1) Sole of the foot rotates outward
through anteroposterior axis
in frontal plane is called as
eversion.

- (2) Sole of the foot rotates inward

through anteroposterior axis
in frontal plane is called as
inversion. '

(3) Rotation of palm at radioulnar
joint around a suproinferior
axis to turn away from the
body is called pronation.

(4) Frontal plane motion around
an anteroposterior axis at the
wrist is called deviation.

(5) Question not attempted

Match List — I with List — II and
select the correct answer by using
the codes given below the lists

considering muscles and their
origins :
List -1 List - 11
A. Adductor i. Tuberosity of
longus the ischium

B. Long head of 1ii. Crest of the

biceps femoris pubis
C. Rectus i11. Quter surface
abdominis of the ilium
D. Gluteus medius iv. Anterior part
of the pubis
Codes:
A B 6-iD
Yy - 3=—1v i
¥ 1 - 3% i

11l
B w el
4 v ¥ T
(5) Question not attempted
Grasping or compressing a muscle
or muscle group, applying pressure
and then releasing the pressure
slowly, gently and rhythmically is
a kind of massage :
(1) Stroking (2) Efflurage
(3) Petrissage (4) Kneading
(5) Question not attempted
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10.

e § ¥ $F ¥ ST ugldl % ge
e 7

(a) NG %l 9eE

(b) ¥ I EIE
(c) Jnieh TTER I FIETET
(d) HTESIE SHaeh Sl HHI

_ﬁéﬁqmgﬁmﬁaﬁ‘rmw

g H:
ETA
(D
@)
3)
(4)
®)

(), (b) 3 ()
(), () 3R (d)
(@), (c) 3 (d)
%aa (b) HR (c)

FHIARd 991

ﬁmf%‘i%aﬁﬁaﬁqm.mw%ﬁ

B T g8 i1 61 3R v W aed |

i
F ol

JAftres T SeTal @ 7

(1) R 3 39 Refiss 1B -
(2) V& HI GHAH o
(3) hehd aTet 1 Pl e

(4) < % T e 6l S
(5) SFITRA A

Ife zaeRt <6 T1fd ¢ STl 2, T TS
TUTieh T R ST 9 7

(1)  IHaEITIT Tih &6 AWM | -
(2)  TCHSREATIHT UTeh T STE |
(3) SICTERERITIAT TUNeh X T& |

(4) TCISEITIAT UM U TFRL I 3R
qgd SE |

AN 99

(5)

DL P ST

-

[T ST TD SV S S

10.

Which of the following are the

main  goals of  therapeutic

modalities ?
@
(b)
(©)
(d)

Select the correct answer using the

Reduction of circulation
Reduction of cedema
Promotion of tissue healing

Reduction of fibrous tissue

codes given below :

Codes:

1) (@, b &©

2 ®),0&d

3) (@), () &(d)

(4) (b) & (c) only

(5) Question not attempted

Which of the following factor has
the.  greatest influence on
maximizing projectile range in
Javelin ?

(1) Initial velocity and angle of
"release

(2) Mass of the projectile

(3) Rotational inertia of thrower

(4) Height of the athlete relative

to the ground
(5) Question not attempted
What will be the effect on

Coefficient of Restitution, if speed

of the collision increases ?

(1) Coefficient of Restitution will
1ncrease.

(2) Coefficient of Restitution will
decrease.. |

(3) Coefficient of Restitution will
remain constant.

(4) Coefficient of Restitution will
reach towards perfect collision.

(5) Question not attempted
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11. Fafafiea 3 9 f6a d=0 $ =0 § dfas

12,

13.

14.

52

U AT AT S ?

; 11 Which one of the following is

1

(1) Tehwes  (2) M-Teliues
(3) fRR=EsH (4) ﬁwﬁam
(5) 3G WA
sﬁﬁaﬁm%wa@aﬁmﬁm
TT5H SHITHT I ATSIERI fopaehl &1 7T 7
(1) 2) el
3) 3= @) =R
(5) IIFARA
Tt - Iwig - A fgemd:
-1 Tt - 11
(ferspiar) (wrEoT).
A. FEHIEE i. o<t gs uTvd skt
B. ieifa™ ii. Wh b HTA |
BT
C. Shife it iii. &= {ig i
= 3T §
9fg
D. Rl $e iv. HiER@ {e
IS .
Fgaeal Hdfg
% :
2B 0 P
G- 1w B A
T e e s T
) ey A G
R O e
(5) I T ‘
ﬁmﬁam%ﬁzmwm%gaaﬁq
T ST ?
(1) =T Ty Y
(2) 3 g Y
(3) W=y A Eh
(4) ¥ T E
(5) 3TN A

WLAARES THLLAE S WA SBT3 W TR SABBAES T

12,

13.

14.

considered as Horizontal
component in Angle of Pull ?

(1) Rotary component

(2) Non-rotary component

(3) Stabilizing component

(4) Dislocating component

(5) Question not attempted
Which of the following company is
associated the main official
timekeeping in the 33 Olympics ?
(1) OMEGA (2) SEIKO

(8) ORIS (4) HUBLOT
(6) Question not attempted

Match the List — I with List —I1 :

List -1 List - 11
(Deformities) (Symptoms)
A. Kyphosis 1. Exaggerated
lateral
curvature
B. Lordosis i1. Loss of Foot
Arch
C. Scoliosis 1ii. Exaggeration
of normal

convexity of
thoracic region

D. Flat Foot iv. Increase in
normal
concavity of
lumbar region

Codes :

A B C =D

(930 s oo aaey P

@ =hE: 1 ur BFa

Bk v 2 N

A = - in W N

(5) Question not attempted

The Lachman’s test is designed to
detect the injury of which of the
following ?

(1) Medial collateral ligament

(2) Anterior cruciate ligament

(3) Medial meniscus

(4) Posterior cruciate ligament

(5) Question not attempted




15.

16.

17.

g feig forees S foreft aeg 1 W @l | 15. The point upon which a body’s

femati § gaH &9 @ Hgfea a1 8, A
&1 e AT 8 ?

(1) s fog

(2) TR-HUh T

(3) TRCTRYT g

(4) sfrafafsm

(5) I SR

fffan § 3 B9 @ W W @}
gAfeTd T & ?
(1) SaaEesht - greiEs gEust
(2) "R — SeI3S HIEY
(3) foFhc — e arosh
(4) e TEush - T =it

- et
(5) I T

Tt — 11 gt — 11 |1y et = aun
Tl % i feu e e 1 wera § wd
I T A R ‘
g - 1
(429 & THR)
A. TS 2

-1
(FF)

i, ThEE §< B

=g
i s wH W
ST TEH 7Y
111, ORI 3Tet
iv.méﬁ@ﬁr;

B. U3 a9

C. Prepivfig 9=

D. 7

A o)
U TE e iR A 1
b5 GTeR ) 1
T e v
1Y =11 1 v

AR g1

e o)

)

(2) 1
3) 1
C))
®)
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i
g
i
i
i
H
i
i
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16.

17

weight is equally balanced in all
directions is known as

1)
2
3
4)
(5)
Which one of the following pair is
not correctly matched ?

(1) Strap muscle — Sartorius

: muscle
(2) Multipennote — Deltoid muscle

Point of Application
Non-contact force
Centre of Gravity
Equilibrium

Question not attempted

(3) Sphincter — Trapezius
muscle

(4) Flat muscle — Rectus
abdominis
muscle

(5) Question not attempted

Match List — I with List — IT and
select the correct answer by using
the codes given below the lists :

List -1 List - 1II
(Types of (Function)
Bandage)

A. Gauze i. Stops bleeding
Bandage :

B. Compression  ii. Holding a
Bandage dressing in

place

C. Triangular 1ii. Venous ulcers

Bandage
D. Tube Bandage iv.Cravat
Bandage

Codes:

A BTC =D
(1) m  BrEawEisa
(PABE B e
Biiv. i o1 dv
(4) 1L nriSTTy

Question not attempted

52



18.

19.

20.
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i R ST AR i T hee bl FER |
Tt o i Ht wrEa T i g g 2
a. OHI-dEHg

b.  E-ATEE

€. Yfeefrm

. ToffeTa Bfeawa

= feu T % $i FEEd ° T W H
A B

R _

(1) a,b3Rc ~ (2) b,c3Rd
3 a,b3IRd () ac3Id
(5) 3FTING A

o Tt =mm & S Ut ST
Tfa ¥ = ¥ 8 o1 i wie geetEt
et 2t ?

a. WA

b, Tefefeom =R

c. Uuftag efeam

d. ugmeTER feforermm e

e feu T e < wEwEa ¥ w39 H
@?ﬂ‘q’aﬁ

(1) a,buﬁc (2) a,c@@d

(3) Ha@dbTce (4) b,cwEd
(5) NG A

Teh Yot 4 WEH & e 7ig T2 &t | 7ig |
@aﬁmﬁzrﬁaﬁﬁﬁm@
I FIW H AR TR FelE 9T
5#121/@@3%%?@?%%#1%@
Teh ST ?

(1) 2.59 Hiet (2) 3.50 "X
(3 327 et (4) 3.90 HieX
(5) 3gNG I

i s T e 8 4 S

T T —

T T

TP p—

WHSBALS TINNE TSNS Wb Tl

i AR SSE TR ALY WS

18. Which musecles are involved in the

19.

: 20.

hip extension movement while
doing rowing exercise on machine ?
a. Semi-tendinous

b. Semi-membranous

c. Pectineus

d. Gluteus maximus

Select the correct answer using the
codes given below :

Codes :

1) a,b&e

2) b,c&d

3 ab&d

4) a,c&d :

(5) Question not attempted

Which of the following are the
agonist muscles during ankle
dorsiflexion movement in leg lifter
exercise ?

a. Gastrocenemius

b. Tibialis anterior

c. Peroneus tertius

d. Extensor Digitorum longus
Select the correct answer using
codes given below :

Codes:

(1) ab&e

2) ac&d

(3) b &conly

4 b,c&d

(5) Question not attempted

A setter set the ball for the spiker.
The ball left the setter’s finger at
height of 2 mt. and has a vertical
velocity of 5 m/s upward. How high
the ball will go from the ground ?

(1) 2.59 mt. (2) 3.50 mt.
(3) 3.27 mt. (4) 3.90 mt.
(5) Question not attempted
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22.
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U fheda R <6 e forg afafa 3
Hiefl ?

(1) ama’aqﬁiﬁ‘r

(2) FIeEfla

(3) i B AHII

acd S |fAfd

FRA 9%

Frefafiga ¥ ¥ =9 @ 98 S5 H A
fergrean =t & =i ?

(1) e oFiten 291 =R |

@) " Tl EwEedasico $H
JredSeRdT 9T SHTRE EHT 91 |
Wﬁ?ﬁaaﬁfm@ﬁ%a@aqﬁ
El IR L &A1 I17ET | .

T9e §H ° Ygel 91 @9 HL &
T1fax |

SATARA 99

®)

3

(4)

®)

. Trg YR 1 TemEH el § TS 7Y

1S ©ia a8 3R g & gl il
R Hl sl ? 7 ‘

(1) oS B 99

(2) TR e

(3) AIhailIeh TIEH

(4) Tl gEITEA

©) AN I

. @ gl de k@i § gifRen die

mﬁﬁm%%aﬁﬁaﬁqmﬁém
(SN FHBS@E ?

(1) dag Sy

(2) <@ HEU

(3) aUTHET

(4) Terafear sy

(5) = IFTRA A

i
i
i
3

21.

22.

23.

24.

@

National Fitness Corps was
recommended by which committee ?

@
2
3

Tarachand Committee
Kunzuru Committee

Kaul Kapoor Committee
Adhoc Enquiry Committee

®)

Which among the following should
not be the basic feature of a good
budget ? :

(1) The budget should be flexible.

Question not attempted

(2) The budget should be based
on the reality of all
necessities.

(3) The budget should be prepared
well in advance before the
financial year starts.

All the expenses should be -
done before preparing the
budget.

Question not attempted

€Y

®)

In which type of administration
system, administrator hands-off
and allows group members to make
the decisions ?

ey
2
3
@
®)

Laissez Faire Administration
Autocratic Administration
Democratic Administration
Athlete Administration
Question not attempted

Which one of the following drag is
reduced by adopting drafting
technique in long distance running
events ?

(1) Surface Drag
(2)
(3)
(4)
(5)

Pressure Drag

Wave Drag

Viscous Drag

Question not attempted
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§9¢ HEHH 6 FEIAHAAT &
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Toie 1 TG ATehfsharal & forg
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ac

c. woie §9F ¥ A ufsean & ywifed

O TN bl I B |
d.
3fed e giReaa & |
Eﬁﬁmﬂ'}l
1y a, be
2y 'ble d
3y a, cd
(4) a,b,ed

(5) NG W

FTC S hi TTshAT % =R bl 3TRIE! 5hH
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a. el ! Thiad i |

b. s H FEEH |
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(1) a,c,d,e,b

) a,debe

(3} a.b,ece d

(490 a,eb,c d

(5) IIgaid I

26.

27.
BT 4 fopat 18 <€ et ?
1 5 @) 4
3 6 @ 7

(5) gaRa e

52

T R A e e E R

i 25. Which of the following statements
| are correct ?

% a. The budget should grow out of
: the needs of the program.
' b. Principle of budgeting is to

plan for 30% for contingencies.
c. In budgeting, involve all
people affected in planning
process.
In budgeting, ensure proper
_ approvals by higher
l - authorities.
i Choose the correct option :
g LY. ahe
2) b,ec d
a.c d
a,b,cd
Question not attempted

P e
L
(5)
Arrange the steps of budgeting
process in ascending order :
a. Gather the data.

b. Construct the budget.
c. dustify the figures

present the budget.
&

26.

and

d. Interpret evaluate the

budget.
e. Analyze
facilities.

the past " budget,

Choose the correct option :
€Y
2
3)
; @
=
{ 27. How many byes will be given to
i lower half in knock-out system if
i teams are 21 ?

¢kf- O 2) 4

(3) 6 4 7

(5) . Question not attempted

a,c de,b
a,deb,c
a,b,ce,d

a,e,b,cd
Question not attempted




28. Fefeflga & @ #19 @1 W TR | 28. Which of the following objectives is

Efazﬁgnﬁﬁ% ? ; included in intramural
Seef Fi S i tournaments ?

@ i ! ! (1) Encouraging mass participation
STcHTied : ’ in an institute

(2) I GHH & A™ Qiﬁm Ea) ! (2) Developing the feeling of
e faess i @ ~ : integration with other

; institution
3) g .1.?-[(11( = 1 (3) Opportunity for performance
(4) FTR-edT ST ’ at highest level

(5) IFANa IH i (4) Inter-institution competition
' (5) Question not attempted

29. Which of the following committee

29, fr=fafga & @ =l @ afufa e +

3eHTed IR g9 TR 6 3TraﬁGF{ * | is responsible for holding the

foru Rrdrer 2 7 i opening and closing ceremony of
; the tournament ?

(1) foaaffa S

i (1) Finance committee

(2) ifeesa afafd 5 (2) Logistics committee

(3) eIl wfirfa ‘ i (3) Technical committee

(4) anfoemafufa (4) Hospitality committee
(5) AINA T (5) Question not attempted

30. Frffgn &1 fem * s ffm
iRl 3 il % forg w Fiebed
-1 L

TS D L VALRBA 58 T TP 31

30. Match the following and select
correct option of functions of the
various committee :

X List-1 List - II
(affa) (ouly T o (Committee) (Work)
A TErR TRl i sueEieE A. Technical i Preparing the
g T A | committee MoU w1?:h
; companies
R ce B. Logistics ~ ii. Confirmation
B. Sifofeced wfifa i, Aferenrii i gy | committee of officials
C. g afufy jii. el wIYEE | C. Finance iii. Management
i . : ; ! committee of spectators
- = wiafd Wf it ; D. Marketing iv. Accounting
R , i committee
Ry Codes :
g 5w i Ao Bag e oh
2" @ el j (1) i dE Bovie
T P maa N
Gy i o P g; . e
; v 111 11 1
®) T A i (5) Question not attempted

10 52




31. ich-3113e Sferifiranaii # wyes = ferfer it |
I8 Raetret 3reran I & BEe § @, 98 |

32.

33.

34.

35.

52

TATH L] & T hadTdl & ?
1) %

@ d#Hifen

(3) fertom (sferfimem)
(4) HesH TEBR

(5) IR FeA

frfafga § & s @ fafa weve Afem |
sifcears < fostarsti i R wE 4 |

I TR B R 7
(1) o fafy
(2) HATTead fafy
(3) fafew fafy
@) 3 fafa
(5) TR A

TS TYE % Agcd haed I Yehid HH
! 98 i el IR -

(1) TeRTeH el

(2) =T e

3)
4
&)
T gAtHe yoredt ® afe 8 AW g o fohaa
g Wl St ?
(1) 24
(3)...22

(5) ITFTANG 37
ﬁm%rﬁaaﬁﬁaﬁqwsrﬁmai%m
TE AR ?

(1) I

(2) el SfagiRm

(3) e gfeEifia

(4) IAR-g=3Y i

(5) ARG T

26
28

(2)
(4)

|
;
!
5
!
i
|

NLARbenAS e ina sy RSP WSS AN AR SSY SRS RN AR STE THISIALSS eSS HAAS IS bkt bt s el
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31. A method wused

32.

33.

34.

35.

in knock-out
tournaments that attempts to have
the best players or teams meet in
the final is known as

(1) Bye

(2) Seeding

(3) Elimination

(4) Consolation

(5) Question not attempted

Which of the following is not a
method used to determine the
winner of a Round Robin
tournaments ?

(1) Percentage method

(2) Canadian method

(3) British method

(4) Ratio method

(5) Question not attempted

The leadership role performed in an
organised group is also termed as
(1) Symbolic leadership

(2) Formal leadership

(3) Functional leadership

(4) Informal leadership

(5) Question not attempted

How many matches will be played
in league tournament system if
teams are 8 ? :
(1) 24 2y 26

(3 2% - (4) 28

(5) Question not attempted
Which among the following does
not come under extramural
competition ?

(1) Practice matches

(2) Open competition

(3) Closed competition

(4) Inter-house competition

(5) Question not attempted




36.

317.

38.

39.

fig 1 = & Frefefes § @ @9 T |
ATEAE T B ?

(1)
2)
3)
(4)
(5)

Tl o AN
i aﬁ .o
gﬁ! i '.sﬁ'.i' ¥ %Il -

- AN A

fyefReg § @ &N @ s@uwen 7
R g 1 geitfd =i 8 7

@
2)
3
4

(%)

s H TRElE @ 9 Ser
ey |
nﬁamaﬁnﬁwﬁaﬁ'&ﬁm
SSIwAT |
ﬁamﬁeﬁrwﬁwﬁa&ﬁﬁw@r
BRAFAT |

3EHEH BH W TS S ATHR Fedl
21

AN T

Wﬁwﬁaqﬁﬁaﬁa@ﬁaw
a2 ?

1)
2)
®3)
@)
()

85 g dmHI
95 g &I
100 g < 4T -
105 g T

SN 991

Tl gaar Efaied § 9§ e W

e R ?

S HEIRET i amehd
e i dTehd Td 3TTHR
HHel TR B! 81 1 ATHR
foramsfet efeaaeft <6t e

a,b3d (2 a, c3Rd

b, c 3 d (4). a, b3MRe
STTIRG 5%

'36 Which one of the following is

I

e

i

12

37.

38.

39.

recurrent inhibition in the spinal
cord ?

(1) Golgi Tendon organ

(2) Renshow cells

(3) Supraspinal inhibitory

(4) Ruffini Endings

(5) Question not attempted

Which of the following concept
refers to Hennemann size principle ?

(1) Load should increase in
progressive manner.

(2) Recruitment of motor wunit
from smallest to largest

(3) . Recruitment of motor unit
from largest to smallest

(4) Size of load increases as
adaptation occurs.

(5) Question not attempted

What is the approximate amount
of ATP stored within the body ?

(1) 85 g approximately

" (2) 95 g approximately

(3) 100 g approximately
(4) 105 g approximately
(5) Question not attempted

Vital capacity depends on which of
the following ?

a. Strength of intercostal
muscles :

b. Size and strength of heart
c.  Size of lung and chest cavity
d. Number of active alveol
1 ab&d @) ac&d
@ b c&d 49 abé&ec
(5) Question not attempted
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41

42.

52

. Fafafea 4 8 =9 3 wEifts 2T

i
:
!
r
i
i
i
i
)
i
i
i
i
i
H
i
£
1
i
{
i
i
i
1

i
;

i
i

i

3@%5{{1%1{31%%?

a. THNIEE

b. IS

c. WERH

d ReEgE

ﬂ%ﬁqwg&%ﬁmﬁaﬁww

TEHR -

Te L _

(1) a,b3Rc (2) acIRd

(3) b,c3iRd (4) a b3Rd

(5) HITRA IH : _

“eefie 1 FAaREIFA EH BRI

Hiditeh JEHR 3R U8 § T &Il 77,

frfafea & @ fog frames S 3 smar |

g7

(1) riafes JTom

©2) R

(3) uEaT TS A

(4) ia:faw FEma

(5) IR SR

wmwnm%%wmm;
(g5a femm @id) % IR, |
msﬁﬁawﬁaﬁ@ﬁﬁ%ﬁ
SAfers SArevERad B E |

HRO (R) : 518 ITeh! 39 AERIHATHI 1 |
Qﬁﬂﬂﬁ%ﬁ@ﬁ
Atgfg BT 2 |

P

(1) (A)QH(R)a’ffHﬁéﬁm(R) (A)
< gl AT 8 |

2) (A)@(R)aqwagam(m
(A) ! TTeTd AR R |

(3) (A) TR, afF R) TR |

(4) (A) e g, dfsh (R) TE1 2 |

(5) I S

13

40. Which of the following are oral

41.

42.

anabolic steroid ?
a. Stanozolol

b. Oxandrolone
c. Parabolan

d. Ethylestrenol

Select the correct answer by using
codes below :

Codes:
1 ab&ec (2) a,c&d
(3) b,ce&d 4 abé&d

(5) Question not attempted

“Athlete’s internalized reasons for
participation . are tied to internal
rewards and punishment” falls in
which of the following regulatory
style ?
(1) Internal motivation
2)
(3)
(4)
(6))
Assertion (A) : Drive reduction
theory grew out of the concept

that all living being have
certain biological needs.

Reason (R) : When their need is
satisfied, the drive to satisfy
them increases.

Codes:

(1) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

Both (A) and (R) are true but
(R) is not the correct explanation
of (A).

(A) is true but (R) is false.

(A) is false but (R) is true.

Question not attempted

External regulation
Identified regulation
Introjected regulation
Question not attempted

()

3
4
®)




43.

44.

45.

AT (A) : T F RS TNl &
2N wgueii foepm i <61 =g
1 37af % fu 3maR 49 @ e,

Fiferes I higd HLdl 2 |

HA (R) : I8 39 wetie yiues 24 &

forerwsrar hI ferfi wedi 2 |
R : ;
1
FR (R), (A) 1 T2 TITH 2 |

(2)
3R (R), (A) 1 W T Tl
21 :
(A) TeT 2, S (R) s 21

4) (A)IFAR, Al R)TAE |
(6) IFARATH
ffeifas § @ &9 @ gfvwm ge d
Som % T ‘e’ GO @ FelE 2 7
(1) Sife=s g

(2) G gued WHIfd

(3) WFHIHS gIEhu

(@) gfown gfeemm

(5) STTARG A

frfafaa § 9 =1 @ gediufaaua TSR
$raferai g 2

a. SEMEE b,  AUERA
c. TAEYEEA d. T

e fou g e 1 wErA § Hel ST
%l :
(D
(2)
3)
(4)
(5)

3

a,b3We
a, c 3R d
b, ¢ 3R d
a, b3iltd

K E LGRS

(A) 3R (R) GFT TeHT-31eF 9 &

(A) 3R (R) SFi SAHT-IT AT & |

i 43. Assertion

i
1
i
H
¥
i
i
H
3
i
i
i
i

£

i
i
i

B T T TR e—
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44.

45.

Reason (R)

@

(A) Multilateral
development  during the
athlete’s formative years lays
the groundwork for later
periods of training when
specialization = becomes a
greater focus of the training
plan.

: As the athlete
matures, the degree of
specialization increases.

Codes:

(1) Both (A) and (R) are

individually true and (R) is

the correct explanation of (A).

Both (A) and (R) are

individually true and (R) is not

the correct explanation of (A).

(A) is true but (R) is false.

(A) is false but (R) is true.

Question not attempted

3
@
®)

Which of the following approach is
related to “Valance’ reward for
motivation in sports ?

(1) Pedagogical approach

(2) Social support strategy

(3) Cognitive approach

(4) Facilitation approach

(5) Question not attempted

Which of the following
multiaxial type joints ?
a. Condyloid

are

b. Arthrodial
c. Enarthrodial
d. Sellar

Select the correct answer using the

codes given below :

Codes: :

(1) a,b&ec

2) a,c&d

3) b,c&d

4 abé&d

(5) Question not attempted
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47.

A FTAER 1. 3= SR THE

. Trafafga 3 9 <1 91 ge= gaulE) ﬁ 46. Which one of the following

fd w1 oo 78 @ 7

(1) - ufaeiE

(2) wEerBiTog H Yo

(3) THIHE R B faEqu

(4) Spiem foeea ‘

(5) JEERATH
?[t‘ﬁ——lﬂﬁ"éﬁ’f—-ﬂﬁ‘g‘[ﬁ%ﬁaﬁﬁt
gl % A fog e e S |
T S : |

-1 gt - 11

fagr= - i TR T SIS

B. tfEshEE 2. I 3HIE Tl ATHI f

C. I WeHT 3. Afehad arehd 3R

D.?eEu 11 4. T 313 (SR 8

48.

52

3Hh] Gishaar i
fFuffasar 2 |

Th it yefid 0 i
&Hdl

3 Tersmid s - b Aoind s a0 L0884 T S

trmﬁsﬁtarsat Tl 8 Seieh 3=
Hﬁms‘raﬁﬁl

HC:

(1)
(2)
(3)
@

(5) IHTNG T
T St Tee VY 3R W i firme @ |
SR A 2 | FAW F WG IHh |
freparl) Tog o 18 1% PR H 8329 |
oy, frme § 67 3 3V 3% RFe A 502 |
ffafiea 4 9 =4 @1 =afe =1 )
&1 FIHTH 8 ?

1 75 2 85

() 95 4) 105

(5) ARG ¥

b0 NS Tt Lt W B HhAASI RS Y

W DO DD = >
w0k o
IS N o |

D == )

2 e venisams e gy

SNBSS AN S RSN YRS W AAERI) PULAMANSD
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47.

48.

component is not the result of
muscle damage ?

(1) Acidosis

(2) Swollen Mitochondria

(3) Distortion of Myofibrillar
(4) Sacrolemma disruption
(5) Question not attempted

Match List — I with List — IT and
select the correct answer by using
the codes given below the lists :

List -1 : List - II
A. Hennemann 1. Combination
size principle of eccentric

and concentric
muscle action
B. Asynchronous 2. Size of the -

motor unit
dictates its
activation
C. Stretch 3. Ability to
shortening exhibit
cycle maximum
strength and
power
D. Type II muscle 4. One unit
fibre deactivates
while other
activates
Codes:
Ao BT
(1) — 1 = 3 4
(2)1-2 7. S3aes 3
) 2 33 4
4 4 3 2 1

(5). Question not attempted

A subject exercises for 5 minutes
on Harvard step test. His recovery
pulse count after exercise for 1 to
1% min. is 83, 2 to 2% min. is 67
and 3 to 3% min. is 50. Which of
the following is the physical
efficiency index of the subject ?
(175 (2) 85

3) 95 (4) 105

(5) Question not attempted




49. Trafafiad § @ gegd & S 4G gge] | 49. Which one of the following aspects

of performance is not considered as
talent indicator ?

50.

51.

po T

fereT e % ¥4 § 98 TF1 @1 @ ?
(1) veeRHIFGH R

(2) oA fer

(3) MR | & h! &FHAI

(4) W fasm™

(5) FITARG A |
faffed A Y SR A FH TR E ?

a. AT o i e =ss Fisn oft

HE Il & |

b. aif¥e I ARIEO Hwewl

FTYR T dIR <6l St 2 |

c. R GEew @i TR I
TT3eToT TSI ST IR 47 8 |
d. Q&qwaﬁwﬁﬁﬁmw

YR G 2 |

2 fou ™ e ¥ @ wE fowey =1 994

Hifsu

(1) a,c3Wd
(2) a,b3Rd
(3) a,b3Mc
(4) b, c3Rd

(5) SIITIRA A

Wmﬁmg@mﬁ

frafafaga § 3 e w fft i 2 2
T AT

SEUE]

EET IR

=g ey

:ﬁ%ﬁqnﬁ@ﬁﬁaﬁﬁwww

sHifere

(1) a,b3Rc
(2) a,c3Md
(3) a,b3Wd
(4) b,c3id
(5) ITFa A

i
i
]
:
i
L
i
i
;
i
i
i
i

s TR Ve ARG

AR INS ARSI TUMIRALS TABSIAAS AR T VLA RS LIS ARY it AT THARS D TR TSNS A THLLR
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50.

51.

(€Y

(2)
3)

@

®)

Rate of
performance
Performance stability
Ability of tolerate load
Motor development
Question not attempted

increase of

Which of the following statements
are correct ?

a.

b.

d.

Operative plan is also called
meso-cycle plan.

Yearly plan is prepared on
the basis of training
conception.

Training conception forms the
basis of all types of training
plans.

Micro cycle plan forms the
basis of macro cycle plans.

Choose the correct option from the
codes given below :

(€Y)
@
3)
@
®)

a,c&d
a,b&d
a,b&e
b,c&d
Question not attempted

The ability to énticipate depends
primarily on which of the following ?

a.
b.

C.

d.

Movement structure
Experience
Deception

Tactical pattern

Choose the correct option from the
codes given below :

(1)
@
3
@
®)

a,b&ec
a,c&d
a,bé&d
b,c&d

Question not attempted
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52. Frafafea 3 & < vfeeref s %1 38vw | 52. Which of the following is not the

53.

54.

52

TE B ? ;
a. UHH QT HET I AU TGHT | |
b.  wfceas a ITH T |
c. % al AR A e 1o |
d.  we-fafe fheda s w b
HE R : -

(1) Sada, b3 cud |

(2) %acla, cINIFAE |

(3) wacia, baRdadid |

(4) Hacia AR cHEE |

(5) aRa T

ﬁtrﬁa%a% ﬁﬁﬁmﬁuﬁwaaﬁw&

TRie ?
Wﬁmﬁwﬁmg@a
F el T Wit T A
aftfrd s |

b. il sl @a & fore fafire wftegor
% Tagia 3R Frvonet fgmr |

c. TUH Fw 3R a-fafre b |
qior faspfa @

d. o TR & b T |
I | ;

R : :

(1) acia, bIANcHHE |

(2) Hada, cINJTE |

(3) Sacia, bR AT E |

(4) Hacia IR cHHE |

(5) IR T

g@qﬁwﬁmwﬁ%ﬁwﬁ%aﬁ s

I fEffead e madi a8l 2 ?

(1) dhTeh! HERd, T aﬁxmaﬁlf
HAEHAl 9t @l b [T dIH
w%wmuﬁrmaﬁwm
FH I 2 |

(2) wfSreqor <6t disan Hit- sfﬁaarémeﬁ%|

(3) g waEifian & 1 9HTE Tea IR |
= dfierar a8 AT R R |

(4) TRk 9Tt Wl & fore ufieor 6 |
HET 3= W Sl 2 |

(5) 3FFTNG SRA

123 e v
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53.

54.

objective of the Competitive Phase ?

a. Dissipating  fatigue and
elevating readiness

b. Gaining competitive experience

c. Learn new technique and
tactic

d. Maintaining sport-specific

fitness
Select the correct code :
(1) Only a, b & c are correct.
(2) Only a, ¢ & d are correct.
(3) Only a, b & d are correct.
(4) Only a & c are correct.
(6) Question not attempted

Which of the following is neot the
objective of preparatory phase ?
a. To familiarize athletes with

the basic strategic
manoeuvres mastered in the
following phase.

b. To teach athletes the theory
and methodology of training
specific to the sport.

c. To develop individualized and
sport-specific nutrition plan.

d. To cultivate psychological
traits only.

Select the correct code :

(1) Only a, b & c are correct.

(2) Only a, ¢ & d are correct.

(3) Only a, b & d are correct.

(4)  Only a & c are correct.

(5) Question not attempted

Which of the following is not -
correct about the characteristics of
Main Competitive Subphase ?

(1) Training volume is
significantly reduced of the

- level of the preparatory phase

for sports that require
technical mastery, speed &
strength.

(2) Intensity of training is
gradually increased.

(3) Training intensity becomes
highest 1 week prior to the
main competition.

(4) Training volume kept high for

- endurance sports.
(5) Question not attempted




55.

56.

57.

58.

98 FUM W IR-91 B¢ d @R s i 55. The repeated short to long bouts of

FAUA H WA W e HHE W Al
39 SR Tt 9 8, s aImm = =8
et aret Sram i eafy Wit 2 2,
0 T HEI AR ? '
(1) et FisTEm

(2) At gfen

(3) = israr wfneon

(4) ieRe SR

(5) ARG 5

o8 fefEeiea sggae & e =

FEATFH B 7 ‘

(1) ¥R ¥ gfg ik €9 4 31 =91e

(2) 3AYATH GANIH <hl SHaY |

(3) 9¥eIuT YR | Ush 3=, IAThSTH
i3 |

(4) wfSreror IR § 99 % 91 S |

(5) IrFaid A

T TfRITaT < dehTet Io (9Te ghiEo

srafty 3 Sufin 1 Frforfed § @ B @

fomIvan gt 2 ?

(1) e vgfd # 3 1 92 |
2) &gl d W S we I |
(3) e i 1 g gRI Tem |
(4) WS R IEE |

(5) IgTRA T

S HE bl B h THE U B
frafafga 3 @ fras gro aionfyg fran
JMare ?

Tifafefyr fFearea

qI<

ek 3ty

GEEica

SN T

@
)
3)
“)
(®)
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56.

57.

58.

(2)

ey

exercise usually performed at or
the threshold
interspersed with periods of rest or

above lactate

low-intensity exercise is known as
(1)
(2)
3)
4)
(5)
What is necessary for superior

physiological adaptations to occur ?

(1) Load must be increased
progressively.

(2) Inadequate of

(3)

recovery.

A sudden, dramatic increase
4)
(5)

Fartlek training
Interval training
High intensity training
Lactate training

Question not attempted

~ periods

in training load.

A decrease in training load
over time.

Question not attempted

Which of the following is the
characteristic of tapering in special
training  period immediately
preceding the main competition ?
(1) Stimulus is reduced in a non-
linear manner.

Stimulus is increased in a
linear manner.
Stimulus is reduced
linear manner.
Stimulus is kept constant.
Question not attempted

in a

(3
@
(5)
Which of the following is defined as

the motor procedure for tackling a
motor task ?

Movement execution

(2) Coordination
3)
(4)
6)

Motor learning
Technique

Question not attempted
52



R 2 e b ey 3 B A L an R Lt L e e e e Cwem o n ennd meiy e e Aegallrmorn e 28 e g Seane oo aadmt g R s PaAg et B L | U R Tl o e T

59. ﬁaﬂ@?ﬁmﬁmm%uﬁrmﬁ 59. Which

60.

61.

52

gefta g ?
(1) 9T wfare o ST ereftemay gieor
(2) hu faliy & o1e 7ifa gfdtemr

(@) i TR 3 g sl R

(4) 9 IR & 97e fowpies nfafafy
(5) TG I

forepics vt ® gur & fog s 59 6
SAauRon fhgd usT &l ?

(1) i3 ugd
(2) WISl SHarm
(3) i &
(4) I8 SRR
(5) 3gRa A

AR (A) : 3fe veefie fasm &

T TR SR T0E0 % =01 W bl
uﬁwaﬁwﬁmaﬁ?ﬁwaﬁ
ETIHA 2 |

%I (R) : @Wﬁmﬁmﬁﬁ
3 it 2 3R e STy FA R |
R wguei o she frowed |

- yf¥reor 1 HEvEhAl 8 Tl 2 |

(1) (A) 3R (R) < SAfET €9 8 9

2 3 (R), (A) 1 9 TEFTR |

@) (A)aﬁ((R)aﬁaﬁﬁﬂamﬁm

23R ®), (A) =1 T WEHW T |

21
(3) (A) TSR, dfrd (R) 39 2 |
4) (A IEAR, AT (R) T2 |
(5) IR F=

60.

61.

type of training is

associated with Maxex training ?

(1) Heavier resistance followed
by flexibility training

(2) Lower resistance followed by
speed training

(3) Speed training followed by
heavier resistance

(4) Heavier load followed by
explosive movements

(5) Question not attempted

Who introduced the concept of
depth the
explosive strength ? ‘
(1) dJohn Endermann

(2) Paolo Cavanga

(3) V.Komi

(4) Yuri Verhoshansky

(5) Question not attempted

jump to improve

Assertion (A) : If athletes are
roughly at the same level of
development and stage of
training, less individualization
of the training plan is needed.

Reason (R) : An athlete who has

high chronological age in
conjunction with a low
training age may need more
multilateral and skill
acquisition training.

(1) Both (A) and (R) are

individually true and (R) is
the correct explanation of (A).

(2) Both (A) and (R) are
individually true and (R) is
not the correct explanation of
(A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

(5) Question not attempted
= |
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63.

64.
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62.

63.

64.

In which age group Sports talent
can be judged fairly and accurately L

1)
2
3
(€Y
(5)

7 — 10 years

18 — 21 years

13 — 14 years

14 — 17 years _
Question not attempted

Arrange the following phases of

- reaction ability in correct sequence :

a. Time taken by sense organ to
generate nerve impulse.

b. Time taken by nerve impulse to
reach concerned center in CNS.

c. Time taken by signal to reach
the sense organ.

d. Time taken by motor nerve
impulse to reach muscle.

e. Time taken by CNS to
generate a motor impulse.

f  Latent time |

Codes:

(B-cc:abed f

(2) a bedet

(3) biedeca

4 fedahbec

(5) Question not attempted

Which one of the following pair is
not correctly matched ?

ey

)
3

@

®)

Fartlek — HR% max
training varies
method

Continuous - at lactate
pace training threshold HR
Aerobic — 80% —100%
interval

Anaerobic - <60%
interval

Question not attempted
' 52



65.

66.

67.
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)
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65.

i 66.

67.

~Reason (R) :

Wi

Assertion (A) : The relationship
between technique and
movement efficiency 18
important in all sports. '
If a runner became
technically skilled and can
optimize his stride rate and
ground contact time, he will
be very efficient.

Both (A) and (R) are
individually true and (R) is
the correct explanation of (A).
Both (A) and (R) are
individually true and (R) is
not the correct explanation of
(A).

(A) is true but (R) is false.

(A) is false but (R) is true.
Question not attempted

(2)

(3)
“)
(5).

If an athlete completes a total
distance of 3400 meters in the 12
minutes Cooper VO, max test,
then what is his VO, max ?

(1) 60.55 ml/kg/min

(2) 64.72 ml/kg/min

(3) 66.82 ml/kg/min

(4) 68.94 ml/kg/min

(5) Question not attempted

Assertion (A) The pre-
competitive phase primarily
aims to expose athletes to
unofficial meets.

Reason (R) : These meets enable
the coach to objectively assess
the athlete’s readiness across
various training aspects.

Select the correct option :

(1) Both (A) and (R) are

individually true and (R) is

the correct explanation of (A).

Both (A) and (R) are

individually true and (R) is

not the correct explanation of-
(A).

(A) is true but (R) is false.

(A) is false but (R) is true.

Question not attempted

@)

(3)
(4)
(5)
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69.

70.

71.

72.
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68.

69.

70.

71.

72.

The frequency at which an athlete
is exposed to a series of stimuli per
unit of time is called

(1) Volume of training

(2) Density of training

(3) Intensity of training

(4) Absolute intensity

(5) Question not attempted

The ability of an athlete to exert
maximum force regardless of own
body weight is known as

(1) Relative strength

(2) Absolute strength

(3) Power

(4) Maximum strength

Time
Time

Intensity, Time

(5) Question not attempted
What does FITT stand for in sports
training ?
(1) Frequency, Intensity, Time &
Type of Exercise
(2) Flexibility, Intensity,
and Type of Exercise
(3) Frequency, Intensity,
and Training
(4) Flexibility,
and Training
(5) Question not attempted
Which one of the following is
cardio-vascular endurance test ?
(1) Tuttle Pulse Ratio Test
(2) Margaria Power Test
(3) Phillip’s J.C.R. Test
(4) Scott Motor Ability Test
(5) Question not attempted
Build-up competitions are useful
for development of the following :
a. Performance capacity
b. Technical skill
c.  Tactical ability
d. Conditioning level
Select the correct answer using
codes given below :
(1) a,b&conly
(2) A]I a,b,c&d
(3) a&bonly
(4) b &conly
(5) Question not attempted

32




78. et — I %1 geht — I1 9 e & @1 | 73. Match List — I with List — II and

74. H&m%mﬁ%ﬁw%mﬁmﬂ

75.
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| 74.

75.

select the correct answer by using
the codes given below the lists :

List -1 List—1I
(Periods) (Characteristics)
A Preparatory i. Consolidationof
phase technique
B. Pre-competition 1i. Biological
phase regeneration
C. Competitive  iii. Acquire general
phase physical
' preparation
D. Transition iv. Linkage of
phase performance
: factors
Codes:

A B -€. B
) S e A T
Y ore s B
o S e R e
4 iv i 1 11
(5) Question not attempted
During recovery phase after
training, the recovery does not end
at pre-training but it over shoots
the pre-training level, - which 1s
known as
(1) Overcompensation
(2) Supercompensation
(3) Undercompensation
(4) Load adaptation
(5) Question not attempted
Which of the following is not

correctly matched for phases of
supercompensation ?

(1) Phasel :Duration of 1 to 12
hours

(2) Phase Il : Duration of 24 to
48 hours

(3) Phase III : Duration of 36 to

- 72 hours

(4) Phase IV : Duration of 3 to 7
days

(5) Question not attempted
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76.

717.

78.

R
-

2) Negative transfer
3) Positive transfer
4) Feedback transfer
5) Question not attempted
Match List — I with List —IT :
: List -1 List — 11
A. Task-oriented 1. Inspires
leader eople to
: ollow
B. Behavioural 2. Maintaining
approach a good
interpersonal
relationship
C. Relationship- = 3. Leaders are *
oriented leader made, not
born
D. Transformational 4. Setting {
leadership goals and
getting the
job done
Select the correct answer by using h
the codes given below :
Codes :
& B C oD
(D133 1 4 2
2 =4 7 3
(3o 2-8 g |
4). 3 2 F =4

List — I List - II
(Development) (Developmental
Objectives)
A. Neuro-muscular I. Face
coordination challenge
B. Intellectual II. Development
Development of strength
C. Emotional IT1. General motor
responses ability
- D. Organic Power IV.Solve problem
Codes :
e SRR 26 P
¢ sHE: V= 1
2y - HEIV -IF 1
S)=IV 51 5 F 11
4) IV I I |

Forehand  skill learned in
Badminton, will facilitate the
learning of same skill in Squash
will come under which type of
transfer of training ?

1) Zero transfer

(5) Question not attempted

Match List — I and List — II and
select the correct answer by using
the codes given below the lists :

(5) Question not attempted
52
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79.

80.

81.

Match the following List — I with
List — 11 :

List -1 List — II
(Developmental (Characteristics)
Age)
A. Anatomical 1. Onset of
age puberty
B. Mental age ii. Mental
maturation
C. Chronological iii. Skeletal
age system
D. Physiological iv. Year, month
~ age and days
Select the correct code :
Codes:
A B

€ - B

@ & aod W

i sl v

(D bk iy dvs

(A i B 1 W™

(5) Question not attempted
Which one of the following pairs is
not correctly matched ? :
(1) Carbohydrates — Major source of
energy for the
human body

(2) Dietary fiber — Fat cells in

the body
(3) Trans fatty acid — Solidified fat
(4) Sterols
(5) Question not attempted

Which of the following
philosophical theory advocates that
reality depends on the mind for
existence and that truth is
universal and absolute ?

(1) Idealism

(2) Progressivism

(3) Humanism

(4) Naturalism

(5) Question not attempted

— Derived fats
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82.

83.

84.

@

Match the following and select the
correct option from codes given
below :

List -1 List - II
(Branch of (Focused on)
Philosophy)
A. Epistemology i. Orderly
: reasoning
B. Logic ii. Knowledge
: and method
C. Metaphysics- 1ii. Beauty and
art
D. Aesthetics iv. Nature of
: reality
Codes :
A B € B
(- 1 3 i v
2) B ¥ W m
Y. ¥ ' Wi
(4 B i1 B v

(5) Question not attempted

According to Bookwalter, which of
the following is not one of the three
main  objectives of physical
education ?

(1) Health

(2) Ethical character

(3) Social efficiency

(4) Worthy use of leisure time

(5) Question not attempted

Assertion (A) : A warming-up
should include an exercise
session with low-intensity,
callisthenic type and stretching
exercises.

Reason (R) : Such a warm-up
period increases both heart
rate, breathing and reduces
the amount of muscle and
joint soreness.

Choose the correct option :

Codes:

(1) Both (A) & (R) are individually

true and (R) is the correct

explanation of (A).

Both (A) & (R) are individually

true but (R) is not the correct

explanation of (A).

(A) is true but (R) is false.

(A) is false but (R) is true.

Question not attempted

(3)
4
®)

52
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85.

86.

87.

.Match the following and select the
correct option from codes given
below :

List -1 List - II
(Stages) (Developmental
. Milestones)
A. Infancy i. Gender
identification
B. Late childhood ii. Linguistics
C. Adolescence  1ii. Well
integrated
into society
D. Early iv. Growth spurt
adulthood
Codes :
% B G
(1)~ ik T s

€2) 1 i v iB

(3 = IEF IO RR e

4 n ¥ ‘W 'ib

(5) Question not attempted
Recapitulatory theory of play was
proposed by

(1) Lumley

(2) Brand S. Mason

(3) - G. Stanley Hall

(4) Herbert Spencer

(5) Question not attempted

Which one of the

statements is correct ?

(1) Essential fat is the fat stored
in the adipose tissue.

(2) Essential fat serves as an
energy substrate for
metabolism.

(3) The essential type of fat is
found within tissues such as
muscles and nerve cells.

(4) Essential fat acts as an
insulator to retain body heat.

(5) Question not attempted

following
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89.

90.

91.

ﬁﬂﬁf‘@ﬁ i & wren Gedh feevw & | 88. Which of the following are health

TEHHHIE ?
1. i 9@

II. dged
1. 9reufemE < aesa

IV, 981

%

(1) e I3RII

(2) hae II 3R 111
(3) haet II, III 3R IV

(4) haa [ 3R
(5) TG A

T+l 39 9 § fopua ufenfya foha -
“Tel SEUE 6l A Rl 1 Iihias
gam g ?
(1) e
(8) .91 gimg
(5) 3G A

%11 o JIER, 3ieh! o dIH TR FTE 7

(1) gl sy, AT

(2) TauNEd- g3ieh, ITThieTh <ih,
At

3) l@;ﬂﬁ, wAifeArerRff, Tauieda

(2) &es
(4) T gR

(@) e, R, et

(5) ARG FeH

fipe aireifes o wikensi ¥ was @t §
gfaeaei i ?

(1) Uead 3fefush (1920)

(2) e IANS (2012)

(38) e 3= (1908)

(4) uf@E 3w (1900)

(5) TR FA

i
E
i
i
i
i
]

28

89.

90.

91.

related fitness components ?
I. Body composition

II. Balance

III. Muscular strength

IV. Coordination

Codes:

(1) Iand]Il only

(2) II and III only

(3) II, III and IV only

(4) 1and]IIl only

(5) Question not attempted

Who hasl defined play as : “Play is

the natural unfolding of germinal

leaves of childhood” ?

(1) Froebel

(2) Harold

(3) J.P. Thomas

(4) C.A. Bucher

(5) Question not attempted

According to young, three types of

audience are

(1) Information seekmg, Scheduled,
Recreation seeking

(2) Conversional audience, Casual
audience, Information seeking

(3) Information seeking, Recreation
seeking, Conversional audience

(4) Self-centered, Hostile, Cordial

(5) Question not attempted

From which Olympics
competed in every sports ?

(1) Antwerp Olympics (1920)
(2) London Olympics (2012)
(3) London Olympics (1908)
(4) Paris Olympics (1900)

(5) Question not attempted

women
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95.
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92.

93.

94.

95.

Match the following lists :

List -1 List — I1
A. Social contact i. E. Thorndike &
theory S. Woodworth
B. Psycho-analytic ii. Plato
theory
C. Instinct theory iii.Sigmund
‘Freud
D. Transfer of iv. McDoughll

learning theory
Codes :

A B € B
(- i v %
(2) B S P
(3 i 31 e
) B N )
(5) Question not attempted
Which of the following has defined
wellness as “Wellness is an active
process through which people
become aware of, and make choices

towards, a more successful
existence” ?

(1) W.H.O.

(2) William R. Corbin

(3) National Wellness Institute
(4) Karen A. Welk

(5) Question not attempted

What is the primary focus of a

humanistic philosophy in physical

education ?

(1) Winning and competition

(2) Development of the full
potential of each individual

(3) Standardized programs for all
students :

(4) Emphasis on team sports

(5) Question not attempted

What are the two extensions of
axiology ? :

(1) Ethics and metaphysics

(2) Ethics and aesthetics

(3) Aesthetics and epistemology
(4) Ethics and logic

(5) Question not attempted



96.

917.

98.

99.

100.

FHFHHEACS T SRE ggld 6 @
fopem <6t oft 2

(1) #F=
(3) U
(5) R F

@) 939
4) TN

F.1LH. 3 SFRR i acd 59 2025 3 |

FHEEFTR 7

(1) =% vd wguE

(2) YR TE HeH
(3) HATHI Ud &S
(4) % feeeh v witema
(5) 3FIRd A

qﬁmaﬁzﬁ%ﬁwa@éﬁ#
R FI R ?

1) Free e frmsd=
(2) S 3G T % A
(3) = 3 W o S
(4) St 3ne T 61 e fTwm

(5) a3 _
Th A form fRafy o wfremm & dnm
T ) bl A2 ?

(1) TeRhRITE 3 Yferea & SiH

(2) R Raeifedi = Tfaegm
(3) oA Sieh % TfawTod W
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(1) TAH. &M=

2 AR, Hew
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(4) woiR fog S

(5) AT SR
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96.

97.

98.

99,

100.

Who invented Isokinetic method of
sports training ?

(1) Morgan (2) J.J.Perrine
(3) dJames Paul (4) Cooper

(5) Question not attempted

F.ILH. Men’s Junior Hockey World.

Cup 2025 is going to be held in
(1) Chennai & Madurai

(2) Bhubaneshwar & Cuttack
(3) Agra & Lucknow

(4) New Delhi & Faridabad
(5) Question not attempted

What is the procedure for giving
the first bye in a knockout
tournament ? . :

(1) Bottom of the lower half

(2) Top of the upper half

(3) Top of the bottom half

(4) Bottom of the upper half

(5) Question not attempted

Situation when time is stopped for

substitution in field Hockey

(1) Substitution of goalkeeper

(2) Substitution of offensive
players

(3) Substitution of full backs

(4) Substitution of left/right half

back
(5) Question not attempted

Who received the Padma Bhushan
Award in the year 2025 in Hockey ?

(1) M. Dhyanchand
(2) P.R. Shreejesh
(3) Ajitpal Singh
(4) Balbir Singh Dosanjh
(5) Question not attempted
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101

102.

103.

104.

105.

106.

107.
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101.

102.

103.

104.

105.

106.

Which is the Apex body of India for
governing Hockey ?

(1) Indian Hockey

(2) Hockey India

(3) IHF

(4) Hockey Association of India
(5)

Who is the President of FIH ?

(1) Thomas Bach

(2) Kirstey Coventry

(8) Tayyab Irram

(4) Gianni Infantino

(5) Question not attempted
Which Cup is associated with
Hockey ?

(1) Rangaswamy Cup

(2) Titan Cup

(3) Reliance Cup

(4) Sayed Modi Cup

(5) Question not attempted

Who was the first Chairman of
Rajasthan State Sports Council ?
(1) Naresh Kumar Thakral

(2) Poonam Chand Vishnoi

(3) Major S.N. Mathur

(4) B.G. Kanetkar

(5) Question not attempted

Team tactics which is used to force
a turn-over in Hockey and have
possession again is called

(1) Press (2) Interception
(3) Formation (4) Tackling
(5) Question not attempted

Question not attempted

When was Blackheath Hockey
Club formed ?

(1) Year 1861
(3) Year 1860

(2) Year 1854
(4) Year 1864

" (6) Question not attempted

107.

Which is the India’s oldest Hockey

tournament ?

(1) Beighton Cup (2) Khelo Indla
(3) Bombay Cup (4) Fit India
(5) Question not attempted
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LR 1 AR SRS SRR A SRS 1 D 1 TR 1R TAARRD LA 03 WA 3 OIS

108. FIH Men’s Hockey World Cup 2023
was organised by

109.

110.

111.

(1
@)
3
(4)
(5)

Which

Bhubaneshwar & Rourkela
Sydney & Melbourne
Amsterdam & Rotterdam
Berlin & Munich

Question not attempted

is the formula to find

number of matches in a single
league tournament ?

D

3
)

n(n-—1) 2n—1
2 & o
(n+1)n SEr i
2 @5

Question not attempted

Impact of doping

A.
B.
C.

D

(1

3

®)

A B&C

Steroids interrupt the normal
development of hormones.
Blood doping mainly causes
kidney failure.

Narcotics causes muscle

twitches.

Amphetamines increase heart
rate.

@2 AC&D
AB,C&D (4 A, B&D
Question not attempted

Effect of cool-down is

@
2

3)
(4)

(5)

Increase the heart rate
Raising the temperature of

the body
Faster removal of lactic acid

Faster removal of oxygen

from muscles _
Question not attempted
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112,

113.

114.

115.

116.

117.
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112,

113.

114.

- 115.

116.

117.

(1)

Most athletes take drug to

A. enhance their
performance.

B. help them wind down and relax.

C. boost their own self-esteem

and confidence.

enhance their weight.

A&B

A B&C

A B&D

All of them (A, B, C, D) .

(5) Question not attempted

What causes the bluish
discolouration in a contusion ?

(1) Epidermis loss

(2) Torn blood vessels

(3) Nerve damage

(4) Bone fragmentation

(6) Question not attempted

What is the height of flag post placed
at each corner of Hockey field ?

1.20 to 1.50 metres

(2) 1.10 to 1.20 metres

(3) 1.30 to 1.40 metres

(4) 1.11 to 1.15 metres

(5) Question not attempted

Artificial Nylon Turf was
introduced at the Hockey event in
which Olympics ?

(1) 1960 Rome (2) 1976 Montreal
(3) 1980 Moscow (4) 1968 Mexico
(5) Question not attempted

What is the immediate effect of

blood vessels damage ?

(1) Increased blood flow

(2) Clotting and
circulation

(3) Muscle strengthening

(4) Bone remodeling

(5) Question not attempted

Which one of the following is not

part of Three Heads of Triceps ?

(1) The long heads

(2) The lateral head

(3) The vertical head

(4) The medial head

(5) Question not attempted

physical

D.
(1)
(2)
(3)
(4

reduced
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119.

120.

121.

122,

(2)

8. The area enclosed by and including
the line across the field 22.90
meters from each back line, the
relevant part of side lines and the
back line is known as

(1) Back line

(2) Circle

(3) Centre line

(4) 23 metre area

(5) Question not attempted

What is the duration of a 11 a-side
Hockey match ?

(1) Two halves of 35 minutes each

Two halves of 30 minutes each

Four quarters of 10 minutes
each

Four quarters of 15 minutes
each

Question not attempted

3)
4
®)

What is process of penalty corner ?
(1) Inject — Stop — Hit / Drag Flick

(2) Stop— inject — Hit
(3) Hit — Stop — Inject
(4) Inject — Scoope — Stop
(6))

Question not attempted

What happens if time expires just
before an umpire would make a
decision ?

(1) The decision is ignored.

(2) The decision is made
immediately after the end of
the quarter.

The decision is postponed.
The decision is made at the
end of the match.

Question not attempted

3)
4

(5)

The design of Hockey India logo is
intended to represent 1: of
Hockey players.

(1) speed (2) agility

(3) power (4) All of these
(5) Question not attempted
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124.

125.

126.

127.

supervision and evaluating plan

for coaches should not include

(1) Supervise as much as possible
in given time

(2) Evaluate coaches unannounced

(3) Look at their weakness and
strength

(4) Announce before evaluation

(5) Question not attempted

“Little league elbow” is an example of
(1) Over use injuries

(2) Sprain

(3) Green stick

(4) A.C.L. injuries

(5) Question not attempted

Minimum duration of activity
should be per week at
vigorous intensity in adults above
65 years of age.

(1) 75 minutes (2) 550 minutes
(3) 300 minutes (4) 450 minutes
(5) Question not attempted

What type of hypertrophy is
primarily seen in endurance-
trained athletes ?

(1) Concentric hypertrophy
(2) Eccentric hypertrophy

(3) Both Concentric and
Eccentric hypertrophy equally

(4) No hypertrophy observed in
endurance-trained athletes

() Question not attempted

What cardiovascular adaptation
can occur due to regular endurance

training ?

(1) Increase in resting blood
pressure

(2) Lowering of heart rate at rest
and during submaximal exercise

(8) Increase in intrinsic heart
rate

(4) Decrease in cardiac output
(5) Question not attempted
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129.

130.

131.

P 132.

allowed for undulations or
indentations on the back of the
handle of the stick ?

(1) 4mm (2) 5 mm

(3) 3 mm (4) 2mm

(5) Question not attempted

What imaging technique is
particularly helpful in detecting
occult fracture in older patients ?
(1) X-ray

(2) CT Scan

(3) MR Imaging

(4) Bone Scintigraphy

(5). Question not attempted

What is the effect of endurance

training on the stroke volume and

heart rate during maximal exercise ?

(1) Increase in heart rate,
decrease in stroke volume

(2) Decrease in both heart rate
and stroke volume

(3) Increase in stroke volume,
heart rate remains
unchanged or slightly reduced

(4) Stroke volume remains
unchanged,  heart rate
significantly increases

(5) Question not attempted

What is the primary cause of
edema after an injury ?

(1) Clotting in blood vessels

(2) Cell necrosis impairing
nutrient transport

(3) Muscle over stretching
(4) Epidermis damage
(5) Question not attempted

The combination of strength and
speed ability is called

(1) Maximum strength

(2) Explosive strength

(3) Strength endurance

(4) Speed

(5) Question not attempted

52



133.

134.

135.

136.

137.

138.

139.

52

fonelt Jehiet g & @1, e e el &
(1) == 2 =

3) = (4) TR (3E:ad)
(5) g FeH :
fop =ie ° formmie afa miter 8 2

(1) = 2) =4

(3) forermm= (4) W=

(5) IR I

frfaRaa @ @ % @1 @it g9 s=e d
g HAT S 7

(1) 3T g

(2)
(3)
(4)
(5)
aut Gt 1 gl § fopm a9 ErROn yam
QERR YT 3T ?
(1) 1982-83
(3) 1984-85
(5) FAITNG 9%
T ARISH Y99H o HHfdRad sR1 3 3
(1) ASEET (2) WIHT -
(3) fwmm @ Fgm

(5) 3FFTING I

T[E-3A13 AR H Teh AT ol
T YA W HH W o feha T

a2 2
(1) 108FvE (2) 8THTE
(3) 12THUE (4) 15@350:4

(5) HgaNd g

(2) 1983-84
(4) 1986-87

aﬁzozﬁmﬁzﬁ%m%ammam

TH TS ?

(1) =i e fag
(2) . uH. g
(8) EI. = Al
(4) S ¥=W TR

(5) IIFTARA IH

37

1 TS iR A8 oSS A3 LIS

T I S S

AR 3 THABE LS EANASIA ) WITIEORS VAN WIS

R T rrp———

133.

134.

135.

136.

137.

138.

139.

A clean, straight cut from a sharp
object is termed as

(1) Laceration (2) Incision

(3) Abrasion (4) Contusion
(5) Question not attempted

Which injury involves ligament
damage ?
(1) Strain (2) Sprain

(3) Dislocation (4) Abrasion
(5) Question not attempted

Which of the following tournament
helps to save time ?

(1) Knock-out tournament
(2) League tournament

(3) Combination tournament
(4) Round Robin tournament
(5) Question not attempted

In which year Varsha Soni
received Maharana Pratap Award
in Hockey ?

(1) 1982-83 (2) 1983-84

(3) 1984-85 (4) 1986-87

(5) Question not attempted

In which of the following functions
of sports event management
“recruitment process” take place ?
(1) Planning (2) Staffing

(3) Controlling (4) Directing
(5) Question not attempted
During a shootout competition,
how long does each attacker has to
complete his/her attempt ?

(1) 10 seconds (2) 8 seconds
(3) 12 seconds (4) 15 seconds

(5) Question not attempted

Who is the Secretary General of
Hockey India in the year 2025 ?

(1) Shri Bhole Nath Singh:
(2) Dr. AK. Dutta

(3) Dr. Mustaq Ali

(4) Dr. Shyam Narayan
()

Question not attempted
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140.

141.

FE S wfeR 3 g o W e | 142

143.

= (1)
144,

145.

Which is not associated with
growth of a human being ?

(1) Physical changes

(2) Economical changes

(3) Social changes

(4) Psychological changes

(5) Question not attempted

In which year Sunita Puri received
Arjuna Award in Hockey ?

(1) 1966 (2) 1981

3 1961 (4 1985

(5) Question not attempted

Which is one of the benefits of

participating in  international

sports competition 7

(1) Promotes friendship among
people

(2) Increases competition only

(3) Reduces physical activity

(4) Limits social interaction

(5)

Question not attempted
Budget that requires a narrative

explanation, covers a number of

years and include major purchases is
(1) Capital budget

(2) Performance budget

(3) Program budget

(4) Fixed budget

Question not attempted
Which country won the First
Women’s Hockey World Cup in
1974 ?

(1) Netherlands(2) Argentina
(3) India (4) France

(5) Question not attempted

Which is not a human relation

quality of a coach ?

(1) Demonstrate modesty

(2) Eager to serve trainee /
student

(3) Establish
parents

(4)

(5)

rapport with

Accept constructive criticism
Question not attempted
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146.

147.

148.

149.

150.

(3

Which countries are going to host
the F.I1.H. Men’s World Cup 2026 ?

@
@
3
@
®)

In a pyramid tournament, players

can challenge someone in the rank
immediately above them after

winning against whom ?

(1) Players in their own rank

(2) Players in the rank below

(3) Players in the same
tournament

(4) Players from any rank

(5) Question not attempted

Number of Hockey sticks on the

logo of Hockey India are

(. 20 (2) 26

3) 24 4 19

(5) Question not attempted

Belgium & France
Netherlands & Germany
Australia & New Zealand

Belgium & Netherlands
Question not attempted

In stage 5, when the conflict is
either resolved or becomes the
basis for the future conflicts is
known as

(1) Latent conflict

(2) Perceived conflict

(3) Felt conflict

(4) Conflict aftermath

(5) Question not attempted

Pyramid tournament is a modified
form of

(1) Ladder tournament

(2) Knock-out tournament
League tournament

Round Robin tournament
Question not attempted

4)
®)
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